
*Тема урока: 
«Решение примеров в 

пределах 100. Порядок 
действий.»























12+4*4=          
78+8=          
21:3*2=           
89+7=















1 вариант                       2 вариант
(Азизов Р.,  Дурнева И.                              (Жертовский М., Плиев Р., Цкаева З.      
Мулдаров Д., Баландин В.)                         Коков А., Багаева Ю.)

   42+9=                                4+8= 
   54+12=                              7+5=
   77-9=                                 9-7=
   36-11=                              12-4=






